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Uche Eliezer Okeke

Ningth solution. Since e* > 1+ for any real z then in particular for any
x € [0,1] holds inequality
eT>1—z <= 1—-€e"+ze" 20
(with equality iff = 0).
T __
Let h(z) := c € (0,1]. Since b/ (z) =

T
z € (0,1] then function h (z) strictly increasing on (0,1] and, therefore,

I
— 1
&—ZL >0 for any

hz) <h(l) <

=1 et =1
<

r ~ 1

=e—1 < -1<(e—-1)x

with equality only if x = 1.
Hence,

(6“2 - 1)(eb2 - 1)(eC2 —1) < (e —1)3a??.
Arkady Alt
Tenth solution. It is equivalent to show that

e“z—lebz—lecz—l
<

3
pe) b2 == (e—1)

that is

2

In(e® — 1) — 21na-{-ln(eb2 —-1) - 21nb—+—ln(eC2 —1)-2Inc<3In(e—1)




